EARAROBEEIERT — 2 N— IBISH —F

201854 H 120 (k) 1EIEIMH6H

mé@k%" +S5R3E (xwlw | lmEmml - |5 ) 0w 8
[A&4£] 1 7% :5,000,000 @ 23 :1,400,000 @ 33 :700,000 § 4 % :500,000 @ . 5 7 :400,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
g = JIRE— :54. -1-1- . — TRl (EE
i o | PEYSA b 3 = 1(5_4)1 1-1-1-1 | 39.4 2 ig; Pty
L7 IHXL TR BT RLATILY 11 48505
= o TEE :55. ~6-6- . = BA(EE ()
5 3| 7t/5> it 3 S 1(5(;3)1 6-6-6-4 | 39.7 4 (4+533) il
LNNVTSY BuArTrxyy I 8405
v 4 3 | FEREA 1:55.5 3-3-5-5 |40.4| — 8 504 | RFIRT (EMH)
311 Fzv—y127 56.0 @ 1/2) (o) |
L:FrU—vI9> B:FrU-—/aCE R 7 — L
P H o3 | ENEE 1:55.5 7-7-2-2 | 40.3| — 1 457 | EhEElE (EA)
4|7l10| F-FATOUE 8.0 ) i | W 7u->77—n
RIZART—IWF— B:TAT7IXH Vallikse]
- N K B ABR :55. 44— . — FEE (EE
N« BEXZAES1 SRR PR T B R M e
LT RIA Y L= BY—XNNIF4 51 b 2]
i 3 | AURE 1:56.1 10-10-7-7 | 40.6 | — 7 446 | |AFIH (FEf)
6|8[11| AVFF—L 54.0 (1 172) Gy | WA
L:7UF—v B:HA1xHINY ZhANY =T 1 =V K7 7 — Ltk
= 4 3 | HEREX 1:56.3 1-11-11-11{ 40.2 | — 11 489 | BEIERER (EE)
71719 T)I/?'f#/ .0 (3/4) (-3) ¥§ﬂg¥
:7v3I7—L BXFHRKRKRII [alisbie]
. s . REFR : ~5-8- — AL ()
8l5lelT>vIuTaEL 4 3 ey 1(.35/%4 5-5-8-8 | 41.0 12 g)z hent
gL LT Ry IR Bid—d—HrF— E )
S 4 # 3 | BEFE 1:56.5 2-2-3-3 |41.6| — 6 530 | mRsoih (FEkh)
955 ZJH¥L7 56.0_7_ (2 E) (+10) ﬂ:=1||}:irg9£
LTI ATFIRI BiF v X1) AW s
0 BEH#T : —9-9- - TEE (FH)
10 4 NCRUPAY 4 3 54% T 1.{567).4 8-9-9-9 |41.8 9 (ﬁ?) *ﬁz@‘e%
AN TA N E BV —TIT— 2 It ABANS
A R .58, 0 10— ) _ Mg (BR)
1 gl1TF/ 70—V # 3 A 1(5‘31 8-8-10-10 | 42.4 10 (4_423) Elllé—
R:TUF—Y BILHLbEvy b A
. 3 | mEER 2:00.0 12-12-12-12| 43.7 | — 5 469 | EhEEME (EMA)
128|12| *=F =7 6.0 (51%) o) | ERREL
x40 BRVFE—L it R
@ 1—F—@&BIEf
13=zr= 2,5,1,7,6,3,10, (4,8) ,11,9,12
Aol=5r= 2,5,1,7,6,3,10,8,4,11,9,12
30—+— 2,10,5,7,1,3,11,6,4,8,9,12
43—+ — 2,10,5,3,1,7,11,6,4,8,9,12
[ RN
B OB 2 430M 714K 2-3 710M e & 2-3 2,830M &R 1-2-3 8,230
8 B 2 200M 1-2 1,770H B E 2-3 2,480 JEH 2= 39,490/
3 300M 1-3 1,650 B H 2-3 3,830M
1 460M

ABICOVWTRDTEEERROODE. TR LIV,




